PART NO. . ;
HARDIN 17 jngustry Dr. Paim Coast, FL 32137 www.hardin-marine.com
MARINE  386-445-2500 / FAX 386-445-1122 625-4580

TITLE:

650HP FULL HEAT EXCHANGER

O O F— N
“ S N
® ) . é 9
SEA WATER OUT O 7

3 Z
COOLANT RETURN TO “_ 2
COOLANT RETURN TO HEAT EXCHANGER adt
HEAT EXCHANGER
SEA WATER IN

FROM THERMOSTAT HOUSING

TO HEADER OR MANIFOLD FROM THERMOSTAT HOUSING
—~—— 18.70 — TO HEADER OR MANIFOLD

- 17.20 —==

L s

SEA WATER OUT

TS
TS

o o

. = 16.75 —»=
FROM FRONT
OF ENGINE —~ 3380 —™

THIS DRAWING IS CONFIDENTIAL AND IS SUPPLIED ON EXPRESS CONDITION THAT IT SHALL NOT BE LENT, COPIED OR DISCLOSED TO ANY OTHER PERSON OR USED FOR ANY OTHER
PURPOSE WITHOUT WRITTEN CONSENT OF HARDIN MARINE INC.. BREACH OF THIS CONTRACT WILL HOLD ........ AND IT'S PRINCIPALS LIABLE FOR LOSS AND DAMAGES.



PART NO.

HARDIN 17 ingustry Dr. Palm Coast, FL 32137
625-4580 ASSY

MARINE  386-445-2500 / FAX 386-445-1122
TITLE:

650HP FULL HEAT EXHANGER AND BRACKETS
www.hardin-marine.com

@1 FRESH WATER OUT.
® 1 COOLANT RETURN.

. @410—1485
_\%) @':,%

Y

@1 COOLANT RETURN.
©® 1 FRESH WATER OUT.

lof (-]
COOLANT FILLJ 625-4579
®1-1/4 FRESH WATER IN.
—FIG B
540-160106 625-4556——

I T « ]

0 0

| TLIT ]
B 2
625-4551—— i THESE BRACKETS USE ALL >

(6)3/8-16 BOLT HOLES
ON THE CYLINDER HEAD
FOR MOUNTING.
NOTHING ELSE CAN BE
MOUNTED ON THE

\\\QCYUNER HEADS.

625-4554—— 625-4572

_/

FIG A
755-5119

INSTALLATION INSTRUCTION:

1) MOUNT STARBOARD SIDE BRACKET TO
CYLINDER HEAD. USE THE (3)755-5119 SPACERS,
SEE FIG. A., BETWEEN CYLINDER HEAD AND
BRACKET. APPLY LOCTITE TO THE 3/8-16 x 1-3/4
LONG BOLTS. DO NOT TORQUE.

2) MOUNT PORT SIDE BRACKET TO CYLINDER
HEAD. NO SPACERS ARE USED. APPLY LOCTITE TO
THE 3/8-16x1-1/4 LONG BOLTS. DO NOT TORQUE.
3) SET 625-4579 HEAT EXCHANGER INTO THE
BRACKETS.

4) CONNECT 625-4554 HOSE TO HEAT
EXCHANGER AND CIRCULATING PUMP. USE 100-
720-6328 HOSE CLAMP, NOT SHOWN.

5) PUT THE UPPER 625-4556 CLAMPS AROUND
HEAT EXCHANGER, SEE FIG.B. APPLY LOCTITE TO
THE BOLTS AND TORQUE TO 20 FT LBS..

6) TORQUE THE CYLINDER HEAD BRACKET BOLTS
TO 30 FT. LBS. TORGUE.

7) INSTALL 540-160106 142° THERMOSTAT INTO THE
INTAKE MANIFOLD.

8) USE A GASKET SEALANT TO HOLD THERMOSTAT
GASKET IN PLACE. INSTALL 410-1485 THERMOSTAT
HOUSING. APPLY LOCTITE TO 3/8-16x3/4 LONG
BOLTS AND TORQUE TO 30 FT. LBS..

9) USE THE SUPPLIED 100-100-1004 1" HOSE & 100-
720-6316 HOSE CLAMPS TO ROUTE COOLANT
LINESS. SEE DRAWING 625-4580 FOR DETAILED
WATER LINE ROUTES.

10) FILL HEAT EXCHANGER WITH 50/50 PROPYLENE
GYLCOL ANTIFREEZE. RUN ENGINE TO BURP
SYSTEM. KEEP OVER FLOW, FIG 3, HALF FILLED AT
ALL TIMES.

THIS DRAWING IS CONFIDENTIAL AND IS SUPPLIED ON EXPRESS CONDITION THAT IT SHALL NOT BE LENT, COPIED OR DISCLOSED TO ANY OTHER PERSON OR USED FOR ANY OTHER
PURPOSE WITHOUT WRITTEN CONSENT OF HARDIN MARINE INC.. BREACH OF THIS CONTRACT WILL HOLD ........ AND IT'S PRINCIPALS LIABLE FOR LOSS AND DAMAGES.



HARDIN PART NO.
11 Industry Dr. Palm Coast, FL 32137
MARINE  386-445-2500 / FAX 386-445-1122 625-4544

TITLE:
HEAT EXCHANGER MOUNTING BRACKETS

625-4556 COOLER BRKT

835
<

Z?3)90037(21 OO0SHS

1" LONG BOLTS

(6)20037 AN-STSS
3/8 WASHERS

(4)90031C075SHS
3/4 LONG BOLTS

(4)910-125
O-RINGS

625-4556 COOLER BRKT
(3)755-5119

1/2 THICK SPACER (3)20037C150SHS
1-1/2 LONG BOLTS

625-4572 PORT
HEAD MNT BRKT

625-4551 STRB
HEAD MNT BRKT —

(4)20037C100SFS

1" LONG BOLTS
s,

MOUNTING INSTRUCTIONS:

1)ATTACH 625-4556 OIL COOLER
BRACKETS TO HEAD MOUNT BRACKETS.
APPLY LOCTITE TO THE(4) 920037C100SFS
BOLTS & INSERT THROUGH THE
COUNTERSUNK SIDE OF THE BRACKET.
TORQUE TO 30 FT. LBS..

2) THE PORT SIDE BRACKET ASSEMBLY
MOUNTS DIRECTLY ON THE HEAD.
APPLY LOCTITE TO THE
(3)20037C100SHS BOLTS WITH
WASHERS, TORQUE TO 30FT. LBS..

3) THE STARBOARD SIDE BRACKET IS
SPACED OFF THE HEAD BY THE (3)755-
5119 SPACERS. APPLY LOCTITE TO THE
(3)20037C150SHS BOLTS WITH
WASHERS, TORQUE TO 30 FT. LBS..

4) MAKE SURE THE 9200-125 ORINGS ARE
INSTALLED IN THE BRACKETS.

5) AFTER INSTALLING THE HEAT
EXCHANGER, APPLY LOCTITE TO
(4)20031C075SHS BOLTS AND TORQUE
TO 20 FT. LBS..

STARBOARD PORT

HEAD SIDE

THIS DRAWING IS CONFIDENTIAL AND IS SUPPLIED ON EXPRESS CONDITION THAT IT SHALL NOT BE LENT, COPIED OR DISCLOSED TO ANY OTHER PERSON OR USED FOR ANY OTHER
PURPOSE WITHOUT WRITTEN CONSENT OF HARDIN MARINE INC.. BREACH OF THIS CONTRACT WILL HOLD ........ AND IT'S PRINCIPALS LIABLE FOR LOSS AND DAMAGES.



	625-4544 BRACKETS
	Sheet1
	Drawing View1
	Drawing View2


	625-4580
	625-4580
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View6


	625-4580 ASSEMBLY
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View4
	Drawing View5




